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(Assume there are 365 days i
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A model for the length of daylight (in hours) in Philadelphia on the tth day of the year is

L(t) =12 + 2.8 sin[ 7
365

Use this model to compare how the number of hours of daylight is increasing in Philadelphia on June 5 and June 15.
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n a year. Round your answers to four decimal places.)
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Section 2.6 - Implicit Differentiation
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Find an equation of the tangent line to the hyperbola

X2 _yr_y
a? b2

at the point (xg, yg).

vy _ *9Y =D
- ==
3 b“'
__’2.\1'1’ = - 24
v av
b* b>x
r _ @L———’—( = Q 'é"-:-
J a3y 7
AL
J Y,

=) tas




	Page 1
	Page 2
	Page 3
	Page 4

